BALOCHISTAN BOARD OF INTERMEDIATE AND SECONDARY EDUIC ™+
& @ 10TH (ANNUAL) EXAMINATIONZINE' * = 4 | Ggf

TIME:- 3 HOURS suBsEgT ‘T T *w10uH MARKS:- 63
croup T | | | PASS MARKS:- 21
UL
(1x7=" | | . LEes e (DD

(. e AD et BN 0)
(133 . 147 , 180 , 168),  -etnfnZienbosn/ ()
(182x10%m , 168x108am . 275x10%am , 525x10° am) ..;.::n..r"l-.._éi—r{r (r)
(it « B o o a2l J0) el Ltk ()

(File_o AL b o JULD _..,fLmi‘gﬁ'b"ﬁfﬁﬁw*il-ﬁr (2)
( A > ";l/,‘.l,_ ) n‘/{' B 2 A) -fnnkﬂﬁﬁuhﬁufkuﬁI_)d‘lé_ldbﬁdbﬁﬁ-—_f_l (")
{

6 8. 7.1) SRS seaT AL (&)

(1x3=3) | Lk ()
S 1V S— s ¥igag i AT) -q.;.-il-,rafu 'gdr B el gLl A e e JTaLied, ()
.q.tﬂ&akbr---——-b:j\{uﬁufi;ﬁ;gul (r)

(1x2=2) Y SEeESeis (B

b ededliaidilatscass (1) RN, o 2UE T8 AT N O
(2x12= 24)[f.1,1..-_-? |
’ i L 12) e 8 (DU
Ve P i (e) LSS (M) e ingstr) LS s AEaTanE (1) eV Er 3 (D)
i ;- mis & L= e " =1
m...r,aﬁdi") _;.{fubJﬁifMj (2) Tu‘:fhﬂ,ﬂmlﬂrlﬂ (a) --;.ngfm_jﬂﬁl{ﬂ ..L{.n"...aﬂfw,i".;-ﬂr{'l?
SRR WAL Pl Or) (g flrnditgig 1) S e

(3x5=15)7/ _
Lhefetta i Y

oo SPUSTHE () - ortie e AFLFSS 1) B0 L Tfgiey sh el 2

i

. P - I |
é‘-‘*—"t-—-&ﬂ’ R R UE L L e

-t 1
“ . B e £ 2 bl IR

. A 1o F g . waic= 120
&‘J’b;ﬁ; Je JBINLE ety q...Pﬁﬂfﬁ‘#;: IANE it 120V
@1 Chooss the cormect Answar:-

(1] The pitch of scund depends un ( quality , Frequency , Wave wngth . Intensity )

12 refreciive index of crown gless s (133 147 . 150, 186} ¥ 3

{3} Spetific esistince of coppat 5 [1.52:13"5:11111 . 109 10NAm , 2TEx10 vim , 525x 107 oy m)

{4) What is filled in = talaphone mcher | Electromagnel , Diaphigm | Electromagnest and diaphragm )

{EjTMmMmmﬂwﬁHMmmﬂhﬂuwn {11Coll K 2Col . 3Cell , 4 Coll] 2 :! _

LEHnmnfmhqgmﬂmdhmbnhmﬂmwmmmﬁmsu| 3‘* f:-,. /&,1) |

(7) the atomilc nimoer oe siver is 47 The numper of vamnca slemenis s |V . 7 . 8 | 18)

{b). Flll i the blanks. . (1x3=3)
(1) Valt meter la an (nstrument used 1o measure, .. BEIwBEN two RGINIE. (2} The bending of waves sround the comer § called..... ...
(3) The change on alpha particlsles is .. [limée Mat of hydrogen nucheus.
({48 Choose true and false of sentences. (1x2=3)
(1} An Alpha particles contain fwo protons [(TIF 1 W informaton aboyl every finid can be ctitalned from enternat ITIF)
) PART- Il (2x12=24

.2 Write short answars of tha fellowing quostions [ Any 12 Twalve ),
(1) 'Wnat ls ultrasonic? (2) Defing Kilc watt nour? (3) Whatis D.C Mator? (4] Define stable Nucligas? (5) What ui P - type sami
canducior? (B) Whal is ramote contral? (7)) Defina antinoge? (8) why can not sound ravel in vacumad (8] Steld the WA hand rued
{10) Wiite two uses of soncive mirtoe? [14] what is step ep tanstammar? | 12) Wike wo precutions 1o mininilee radislon angers.

PART-Ill(3x5=15
a3 Attompl any three Questions,

(1) Explain the defects of u/lens. How ey can be minimized. (2] Wha! s meant by the capacitance of 4 congucial Expias W
(3} Whal is meaht by resistance of & conductor. Define &n ohm (4) Gescribe an A.C generaiof and explain the foim of voltige byl
(5} Write arcte on [|) OR cperation (i) Net operation

PART- lv E 3 x 4 = 12) (Antempt any four [4) Questions)
2.4 Caicutate the wave length of sound produced Dy luning | iy 512 HRZ wheleas he speed of sound is 340mS
-} 1 An opjett bs placod ul o distasce of 15cm rom s concave mifrof, it tha radius of cunvature 41 the concave miroe e T00= = x@ming the

oosition | noture, @nd rn.ngnuudeut the image. _
ae Tmﬁ;diu:.uu.upﬁmmr.:nnw with S00LIC and 200UC. Fing the force Detwaen the two chutmes/y (@l fnisiy ghek= by tham in @i is
v 0.75m, ' ) AT
=Tag Filig the enargy produce frem 40kg of Carbion $t Is comaiets whged
08 Find the miass of 3 body fromwhich 2.5 x 10 7| okar * \
-~ B = b i ey # Al o Traevs Barae Frnem woEaay -"' -0 . T Wit Wil O the #nargy b whed hf the
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